N = Ol & AF & ZF A

201285 =0lat LeSIAL JIEtSEEH OIcHAFZOHE 0t ~ Ol cH AR OH 2 1t
S A OlcHAH OH & 1t
FH: RE2 ZZ2HE JtAl &
=P DN Es HEEA 54 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
Ol ch AFH OH 2 1t 17,291,444 18,045, 180 AT753,736
= 6,700,000
s 10,591,444
FEI2 ZZ2HE JtAlE 15,921,000 12,326,700 3,594,300
& 6,700,000
< 9,221,000
Ol XIEEE HEEZA =4 15,522,000 11,927,700 3,594,300
= 6,500,000
& 9,022,000
JIHEA A4 22,000 18,700 3,300
201 B2 2,000 2,000 0
01 AtR2telt 2,000 2,000 0
OJIIHT Al 24 R 2,000
202 04l 20,000 16,700 3,300
01 2L 20,000 16,700 3,300
OIIZEEAN A8 HRFZH 20,000
FFIEA HYEZ W& 9,000,000 5,000,000 4,000,000
401 Al HIZ S HYI 9,000,000 5,000,000 4,000,000
01 Al£Hl 9,000,000 5,000,000 4,000,000
OMYEZ(XLE 4098) H& 9,000,000
A=INLEAl JIBAIE K& (2D) 6,500,000 6,000,000 500,000
= 6,500,000
403 XXM S AH=01 & 6,500,000 6,000,000 500,000
= 6,500,000
01 AXSHHXZE X 6,500,000 6,000,000 500,000
OrLEZ(Z2E7S) N4 6,500,000
= 6,500,000
S Al A4 & 33012 01A 399,000 399,000 0
= 200,000
s 199,000
SATAIZE AEHXE 19,000 19,000 0
201 224 5,000 5,000 0
01 AtR 22| 5,000 5,000 0
OSAT Al HRF 5,000
202 01t 14,000 14,000 0
01 2UHOHI 14,000 14,000 0
OSHAMEZAl A4 HRFA 14,000
SASAHIXILUASAE & (Z2) 380,000 380,000 0
= 200,000
= 180,000
201 B2 225,900 140,000 85,900




SN
X XH .
S Tt

el

Ol cH AR OH 2 1t

SN HB SR (BIH) - A - B S S
- T ° e = [l ) 0:”/&,%

= 112,950
= 112,950

01 AR 2teld| 94,900 102,000
OS AT Al HIXLIAME 2Y 14,900
= 7,450
= 7,450
OHMEA HIXNUAME K2sel e 2,000
2 1,000
& 1,000
Outetd RIUXE T/FE 29 5,000
& 2,500
& 2,500
OEE2 HE(HX, JEE, ZAPT HE) 37,000
= 18,500
= 18,500
Ozt 8 20,000
= 10,000
L= 10,000
O0ld=Z=J/& LCD g&a& 16,000
= 8,000
L= 8,000

02 2324l 11,000 0
OSHOIN SX 22 1,000
3 5,500
= 5,500

03 S At2 G| 120,000 38,000
OFE =X #%3 Mzl 100,000
= 50,000
L= 50,000
O01&II2 /a5 ¥ UE3Q M=l 10,000
= 5,000
L= 5,000
OXNAL =2k AL 10,000
= 5,000
= 5,000

202 ¢4 4| 7,000 7,000
= 3,500
= 3,500

01 =2 A b 7,000 7,000
O ATAl HIXILIAME AQEX 7,000
3 3,500
= 3,500

301 YR AE 2,100 3,000
= 1,050
L= 1,050

10 AL HIEA S 2,100 3,000
OZA EIOHAH AU 24 2,100




SN

Ol cH AR OH 2 1t

M. REle TZ2ME IS
Sl BAITAl A4 Y BBIIZ O (B9 &2
_ _ _ Muo
SA BB H(BH) - MBAY - B2 O A+ 24 il i~ o HRs2
3 1,050
= 1,050
307 QI2+0IH 85,000 170,000 785,000
3 42,500
= 42,500
02 QABABE 50,000 170,000 A 120,000
OLBIY ZAAE(DIS2Y) MNLH B2 50,000
=l 25,000
= 25,000
04 BIFALR 35,000 0 35,000
OO0IFBZIIZ YR U NAFY DF 35,000
3 17,500
= 17,500
308 XXI €I S 01 & 60,000 60,000 0
=l 40,000
= 20,000
01 HEISHBABES 60,000 60,000 0
OSATAl &5 U 0IFIIZ A 60,000
3 40,000
= 20,000
NALH SaHA Jb gt 12,200 4,864,800 4,852,600
DleHE 2tarel B4 12,200 4,864,800 4,852,600
JRIH0IR HEREX X4 7,200 3,860,000 A3,852,800
202 01 b 7,200 7,000 200
01 =L 01 bl 7,200 7,000 200
ORI HEPHX X4 X=X 7,200
NSO TAIAE piejo|stins | =& 5,000 1,004,800 999,800
202 014 5,000 4,800 200
01 =L 01 bl 5,000 4,800 200
OAAE piodostoins B AREX 5,000
HESHAH (DAL HL D) 26,440 28,085 A1,595
p[CER] 26,440 28,085 A1,595
Sx2Y Jl=A| 26,440 28,035 A1,595
201 LBr2 | 19,720 20,835 A1, 115
01 AL 2r2lHl 19,720 20,835 A1, 115
ORN2Y A2 19,720
202 07 H 6,720 7,200 A 480
01 2UH Ot bl 6,720 7,200 A480
SN2 20T 6,720
TS &S (0124 AHRI N 3} 1,331,804 825,645 506, 159
SEIE 1,331,804 825,645 506, 159




FA:
D WP S(0IHAILIHE D)
=l

X ZH
(=T

Ol cH AR OH 2 1t

BHEX=

_ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
JelHtole HEARET] 1,331,804 668,494 663,310
311 XL S0l Xt & & 1,331,804 668,494 663,310
01 Al - EXISIHLD| SIS 0| X4t 1,331,804 668,494 663,310
ODRIHI0IR &SI X (XISIHE) 1,331,804




